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® (—18) = (+6)

® (4+20) + (+5)

3. e Astolet (& n & 44

()" x (=)t = (=)

4. n o] YL W, v=< AlAsteEt

(—1)m 1 = (~1)" 4 (~1)?

wat,

(+4) X (—96)+(+4) X (+99)+(-7)+(+2)
=(+4) X {(=96)+(+9D} +(=T)+(+2)
=(+4) X (+3)+(-7)+(+2)
=(+12)+(=7)+(+2)
=(+12)+(+2)+(—7)]®

=(+14)+(=7)

=+7

O (+8)+(-13) = -5
@ (-16) — (=7) = -9
® (—14) + (+20) = +6
@ (=2) x (=7) = +14

® (+39) = (=3) = +13

O Aae Fof Aok 5o ez o] FolA .

@ Aol £ #3225 29 +5 59 At
gk

® |a| > b € @, a > b o]t}

@ d9gkol a 9 = +a & —a o F At




9.

n o] A5 o, thg Ae) g Tatoier.

(~1)" = (=) = (=)




